108 2x10°

BIC

5x10°

2x10°

5

10

1 10 1

Relative Probability

107°107*1020.01 0.1

10*

Window Half—Width (km/s)
1000

rm485 2/(411594 5337) 0.914
F | | T | H
' BIC 440426 72 ABIC O. OOO AlogP 0.0000
i : x 371431.09 Ax 0.000 AlogP 0.0000 1
P : E
: _________________ — & . —. _Hji___e___ R ———HBIC
2
L ABIC —388747 ' —2786 1 X
i Mx* —388747 —3950 |
5247 5247 5337
A | | AC5 ] | AC5F | |
20 40 60 80 100 120
120 iterations
rm485 2/(41 1594 5337)=0.914
E | | T |
F BIC 440426 72 ABIC O. OOO AlogP 0.0000
S % 371431.09 Ax 0.000 AlogP "0.0000 3
. 5247 5247 | 5337
= A"I """""" I'ACE """ o I----AGSF----I """"" E
20 40 60 80 100 120
120 iterations
Fe2 76% 8431164 km/s
rm485 BLR 11810 NLR 900 km/s
| | T | T | | H
————— — = = = e = = = =~ — ~ —IBIR
-_I T T _ = L _ —_ :
—--JV --------------- - - s - — = - - -=—--|-‘|-—-L--"‘- — NLR
F o] _—
: 247 ‘:HL}:‘”:”:”.——E]'—@ 1—'}-?# :ﬂu 77
! Aty ! : | ACLF ]
| L | |
60 80 1OO 120

120 iterations

kdh1 14-0ct-2021 11:53



